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One who says give (this) [a] wva — V3 1N NINGT

OVERVIEW

Our text in the mwn reads 121 *NWKRY 71 V3 1IN MR, indicating that the husband or
master is currently transferring the (M7nw) va to the °%w. Our MdOIN discusses and
negates this X077

- 2217 99N 9299 PIIND NINNR TNT V) 1N 195093 IN
If our text reads; ‘give this ¥3’ to my wife or this 121 7292 MNY wW’, the mawn
will be according to »''9 exclusively.

mooin offers another option (even if we are '71' ©7):
= 935150 MINMY 1D 1NN NON 19D 7919 19091 1ORY 11191 19295 199N ) ON

Or you may also say; the mwn can even be according to the 3129 and we are
discussing a case where for instance the master (husband) is not hand delivering
the 177w vw to the hand of the m°%w, but rather he is merely showing the mow

the 70w and commanding him to give it to the 72V -
- 215 9NN 1Y 1503 KY XYM

And the 5w did not take the 177w ww till after the death of the master.

mooin offers an additional option (even) according to the 7327:
= 72y NOT XY Y9N 1PN INIHNY IV M) ON

Or you may also say; the m%w took the Mnw “vw immediately afterwards

(meaning, while the master was alive) but nevertheless the 72y was not 7721 his

freedom, since the m5w did not receive the MW va from the hand of the master -
= Y155 3 YWY Y0IPWA NYN 991D 19 199998 N 99NN

For we will assume that the rule of 21> jn applies only when the master

' The word 717 indicates that the (husband is giving the v3 to the m>w and the) master is giving the M1 mw 70w to the
oW [as he is speaking].

* The 1327 maintain that it is a M1 for the 72y to be freed (as opposed to n"7 who maintains that it is a 211 for the
72v), therefore as soon as the 72w receives the 1MW 70w from the master and the master told him 737 W W 10
*72yY, the M°9W acquires the NN vW on behalf of the 72y (since 315 1n) and he immediately becomes free. There is
no issue of M IR LI PX.

3 In this case the MW was not 7137 the 91nw W for the T2y during the lifetime of the master, since the Mm% took the
3 after the death of the n%wn. The rule of n°m ANX? V3 PR applies.

* It seems that had the master actually said 1, then even though it was not 7 7, the 72y would be 727 in his MW
(if the master was still alive) when the M5 took the 3. However since the master merely said jn and he did not give
it 7% 71 to the 7w, then we do not apply the rule of *315 jn. The fact that he did not give it to him 7% 7 indicates
that the master does not want the n°%w to be 112 for the 72y, but merely to give it to him, and the 1w should be %
when the 72y receives the 1w 0W.
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delivers the 7177w 0w to the rmv»w from his hand to the s'm®w hand, but not when
the master merely showed him the 277w “vw and the 7°%w took it from where it was lying.

Moo responds to an anticipated difficulty:
= LY HINYIYY NPV 1NY MINY) PPyl "Lanw 23 Yy GNT DT VPITINNI 6])’9)3\020

And the m1wn teaches us by mentioning 73, that even though the (M7nw) wa is

present and it is ready to be given at the time when the 52 was appointed -
= 590 NNRY V) PRT NN INNRD 9297 199X XY 991 179N 0NH1) 75 U5 HNMM

And the process substantially started in the lifetime of the master; nevertheless
they should not complete the process after his death since 70 “nKR® w3 PX.

moon (however) negates the X077 of 71:
= 1% 995 197049 XDT 0N 19229 99N YaAN

However the n''= states that we are altogether not '777' o9 -
- SUrn DIYY 1PNNINNA AT NIN NY TN Yy

For perforce you must say that the 71w» had no intention of mentioning ;77 for
any @7m -

= 9133 9205 172N 1IN NN NI Y991 2°5YA INT N?922 1PN0NNT "N 7271M
Since 7°271 21 infers later in the X923 that our mwn is discussing a 8°93, for if the
mwn is discussing a »'"'>w why does the 71wn state 1n, even if the 2">w would say

‘write’ the v or MW we would also give it to the o>nn 72y AwK. This concludes the

citation from the X713. Now n1201n concludes his proof:
- 9215 919919 159 MYA RY ¥ 259WAa 3999 I%aN CwiTn o 1IVINYND NT NI IN)

> If we assume that the 73wn is only according to n"- then the word it teaches us that even though the 75w received
the o»nn v, nevertheless the 72y is not freed since it is a 217 for the 72v. However if we will assume that the 7wn is
according to the 1127 who maintain it is a m>7 for the 72v to be freed, why is it necessary to mention 77. The 7awn is
teaching us that if the 5w did not receive the (7% 7n) 1w W during the lifetime of the master, the 72y is not
free [regardless whether he said 777 or did not say 7], since 312 1n does not apply here. Why mention '71'?!

® This is referring to the case where the 5w took it 7n°» R, however where the Mm% took it 1nox? (but not 7n
79), the w17°n1 is that the 72y was not 2>nn 121 (since there is no *312 1n), and therefore it cannot be given 0 NR>.

7 According to the 1321 the w171 of it is by both 7w vx and 1w W (as opposed to 1" where the w1TR of 211 is
only by 72V [see footnote # 5]). See however R"wm» who maintains that the 73277 w1°n is only by 72v, however by
7WX since it is a 217, there is no X" that it should be effective. (See footnote # 12 for further discussion.)

¥ There is no reason for the 73wn to write 7', unless by writing '7it' it is teaching us a w1n (that 729 AW is a 1A
according to n"0, or that even though the process began o>, nevertheless it is considered a 131217 70 TNKR? V3).
However, mooin will immediately prove that this cannot be the s'71wn intention.

? On 2,» we find that 721 21 infers from our 73w» that we are not discussing a case of ¥ 22w, in the following
manner. The 71w states that we do not give the v3 or MW (to the 721 AWR) after 7in°»; indicating that we do give it
to them before 1n», but only if he said 11n. If the 71wn would be discussing a ¥ 20w then even if he said 120> (and
did not say 11n) we would also give it to them (2*1n), since 17 0710731 0’21033 1"'OW *727.

1% According to »" it teaches that it is a 21 for the 72v; according to the 1327 it teaches that it is still considered TmXY
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And if the 71wn states "' to teach us some w171, then even if the 7iwn is

discussing a »''>w, the 71wn could not have stated "1an>', for then we would not know
the w7 of mr.!!

Mmoo anticipates a possible refutation to this proof (and rejects it):
— 951D 15D MN Y 255YA N P21 99N 911D NN PN

And it does not seem logical to say that this is how 7°21 27 inferred that the mwn
is not discussing a n">w, for if we are discussing a »''>w, the ;mw» should have

stated -
— 25yl A7 9990 19N INYNY V) AN

‘Write a w3 for my wife (without 110 or 77) and give this 977w to my slave’ —

mdoIn responds that this is not a viable option:
$PYHA PPINNDY SNYNRD V) 12N MIYYD NINT 1T PN NT NINY 1N MIYY 98T 199 NI4T

For since it is necessary to teach 717 91w 1n (for the aforementioned w171 of
), it is not appropriate for the Xin of the 7w to teach "snwN® w3 12n> and by
this increase the verbiage of the mwn.

SUMMARY
We are not 0713 the word 77 (even though it can be [even] according to the 7127), for
the 71wn is not teaching us any 17’1 regarding 7.

THINKING IT OVER
Why indeed did not the mwn write 77" (according to the °"7) and teach us the
2°v17°n, which n199Wn mentions (according to 1™ and the 7327 respectively)?'

nn even though all the preparations had already begun.

""" We would not know that it is a 21 for the 7 (according to n"), and we would not know (}327) that it is
considered nn°n TnX> (even though the preparation had begun), but rather if it would say 12n3, it would clearly be a
case of In°m NRY, since there is no *313 10 and nothing was done o>°rn, for all he said was 1an>.

12 The (main) w70 of 11 is by 72y (either that it is not a 217, or even though it is a m>21 it is still not considered o*mn),
so let the 711wn write 110 and 717 by 72y, but by 7wk (where there is no w1711 of 11n) the 71wn should write 1203 (and not
1un and 77) if we are discussing a n"2w. See X"wnn (mentioned in footnote # 7) that since MO writes *NWX? V3 12N
this proves that by nwX v there is no w171 of '1'; for if there is then just as it is necessary to write 71" by 72¥ it is
necessary to write '11' by 7wX. However one can argue and say that once we know the v17°11 by 72¥ that even though
it is a Ma1, nevertheless it is a 7N TNXY V3, so how much more so is this true regarding WX, and there is no need to
repeat the W17'n (especially since it is a minor ¥17°n1 compared to 71v), therefore the question remains if it is by a
n"ow it should say 120> by AwX to teach us the w17°n that o»nn we give her the vi (even though it is a 217). See 7
([7"opn-p"n] A210°u0™3 1"1?) PRI, See 2aR 772 XX NI "92 for an alternate refutation of the X"wamn.

" See "X #21.
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